EARAROBEEIERT — 2 N— IBISH —F

201357A1H (A) 4mKiR3A

mu_lﬁél/—z B2#M #+5%— (w8 | mEmml - |5 ) oom 8
[AE4£] 1% :19,000 ™ ~ 23#%:38,000” ~ 33%&:19,000 ™ . 43&:14,000 H 53 :5,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1B 3| =v/7102 Ho4 ngl;ﬁ 1:(4_5).9 1-1-1-1 | 40.6| — 1 zg;) Bﬂ%ggg (2&F)
LN=V754 B:M4>57 N 45035
= = o KIFIE 146. -6-5- . — NEREE (&)
2 8 L —F e R % 5 au 1(426)2 4-6-5-4 | 40.2 4 (4:188) %;agggg—
Ry IREPZ B:ZMANY—T 1 NEHS
= 45 | AKIBE 1:46.5 5-4-6-5 |40.4| — 3 478 | #HEEZ (KkiR)
3R | 7V T N 56.0 @ (+5) | AMEEFZ
LAY —Y v B:IXIVF HET7— L
-3 o7 | AR :46.5 7-8-2-3 | 40.6 | — 2 438 | =FHE&E (KR)
4|8|9|FEAEIZN-X 56.0 () @) | EEEL /
R:xF21=g7—X B4 )—-TLA A1 L= S
S 4 7 | HER 1:46.5 3-3-32 |40.9| — 6 453 | HEX (KiR)
5 6| IXET YT 56.0 (7E) (43 |BHRT
L/ RS vy 7 BTy TS PIE A
A ft 5 | BEMAE 1:46.8 6-5-7-8 |40.6 | — 7 475 | AR OKR)
6155 T4 =y F 54.0 (1 3/4) (-5) | =HIER
L:2v2v3aAy B Hy TERS
o APE- it 5 | HEEE— 1:46.8 8-9-9-9 |40.3| — 9 435 | /I\PREAE (B%FE)
71717 E=XT>LF« 54.0 (75%) 45 | EBNIEF
TR INEry b BiFU-AL Rt ais
3 4 6 | PIEBEEMR 1:46.9 9-7-8-7 | 40.6 | — 8 515 | E2AREE (KiR)
8l1/1|EEXZITX b 56.0 (1/2) (10 | EAIBSE ’
R:FVr—r7> B:SANT YT ®RENS
B s—n —p BERRE : 04— — HRE— (KR
oM 4|~y RFLTY IR S R P o s -
L:T7LrFFEaT1 B4 Fa570A7 71y #E BE
® I—F—@EBIERL
13—7F— 3,4,6,8,2,5,9,7,1
20—7— 3,4,6,2,5,8,1,9,7
3T—7— 3,9,6,4,8,2,5,1,7
41—F— 3,6,9,8,(2,4),1,5,7
[ RN
B 3 160 794K 3-8 400M & 3-8 410 &R 2-3-8 2,010/
# B 3 1204 2=3) 390M B E 3-8 790 EE 3-8-2 6,000
8 1609 2-8 880M B H 3-8 1,010/
2 160

ABICOVWTRDTEEERROODE. TR LIV,




